
Updated 072517-BR www.elitescreens.com

Model Number
Diag. 
Size

Aspect 
Ratio

View 
Width 

(A)

Weight 
Bar

Length 
(A1)

 A2
L/R

Border  
(A3)

Screen
Width  
(A4)

A5
Overall 
Length 

(A6)

View
Height 

(B)

Top
Border 

(B1)

Screen
Height 

(B2)
B3

Overall 
Height 

(B4)

Case
Width 
(C）

Case
Height 

(C1)
 C2

M92HTSR2-E20 92" 16:9 80.2 86.6 3.0 1.5 83.2 63.7 87.3 45.1 20.0 68.1 71.6 72.8 3.5 3.5 1.1
M100HTSR2-E20 100" 16:9 87.2 93.5 3.0 1.5 90.2 70.6 94.2 49.0 20.0 72.0 75.5 76.7 3.5 3.5 1.1
M110HTSR2-E20 110" 16:9 95.9 102.4 3.0 1.5 98.9 79.5 103.1 53.9 20.0 76.9 80.4 81.7 3.5 3.5 1.1
M120HTSR2-E20 120" 16:9 104.6 110.7 3.0 1.5 107.6 87.8 111.4 58.8 20.0 81.8 85.3 86.5 3.5 3.5 1.1

Model Number
Diag. 
Size

Aspect 
Ratio

View 
Width 

(A)

Weight 
Bar

Length 
(A1)

 A2
L/R

Border  
(A3)

Screen
Width  
(A4)

A5
Overall 
Length 

(A6)

View
Height 

(B)

Top
Border 

(B1)

Screen
Height 

(B2)
B3

Overall 
Height 

(B4)

Case
Width 
(C）

Case
Height 

(C1)
 C2

M92HTSR2-E20 92" 16:9 2037 2200 76 38 2113 1618 2218 1146 508 1730 1818 1850 90 88 28
M100HTSR2-E20 100" 16:9 2214 2375 76 38 2290 1792 2392 1245 508 1829 1917 1949 90 88 28
M110HTSR2-E20 110" 16:9 2435 2602 76 38 2511 2020 2620 1370 508 1954 2042 2074 90 88 28
M120HTSR2-E20 120" 16:9 2657 2812 76 38 2733 2230 2830 1494 508 2078 2166 2198 90 88 28
Note Data Error ± 1"

Unit: mm

Unit: Inches
Manual HT Series Dimensions Table

The listed measurements are for general reference only. Please contact Elite Screens to verify product design and dimensions before attempting to 
integrate its products with any structural or furniture modification. Although a manufacturer may offer product advice, it may be taken or 
disregarded at the integrator’s discretion. Elite Screens will not be held responsible or be otherwise liable for faulty installations. 



Flush Wall

Slideable
Brackets

White Aluminum
Housing

Suspended Ceiling

Elite Screens Inc | Elite Screens Pty Ltd. - Australia | Elite Screens China Corp. | Elite Screens Europe GMBH | Elite Screens India Ptv Ltd | Elite Screens Japan Corp. | Elite Screens Taiwan Ltd. | Advaning

Screen Material
•   MaxWhite® Fiberglass (FG) 1.1 Gain Commercial/Residential integrator grade 
    material
•   4K Ultra HD, Active 3D, and HDR Ready
•   4-side black masking borders enhances perceived visual contrast
•   Black backed screen material eliminates light penetration for added image 
    brightness
•   20” (51cm) top drop border
•   Available in the following diagonal sizes:
 • 92”, 100", 110” and 120” in 16:9 format

Design and Installation
•   Dual Wall and Ceiling mount installation design
•   Premium grade arcuate-profiled aluminum housing with white enamel finish
•   Built-in SRM (Slow Retract Mechanism) allows hands-free screen retraction
•   Auto-locking mechanism with variable height settings
•   Operational lanyard included
•  Slideable mounting brackets allow precise installation location
•   Includes installation kit with wood screws and drywall anchors
•   Optional 6" and 12" L brackets available - sold separately

Quality & Reliability
•   Flame Resistant: Complies with NFPA 701 Standards
•   GREENGUARD® and GREENGUARD® Gold Certified
•   2-year Parts & Labor manufacturer's warranty
•   3-year warranty offered through ENR-G program (Education, Non-Profit, 
    Religious and Government)

The Manual HT is a manual (non-electric) retractable projector screen that is made as an ideal solution for high-end com-
mercial or home cinema applications. Specifically crafted for the European AV channel, it possesses the features expected 
from top-tier AV design. Among these is a “slow retract mechanism” or SRM for hands-free retraction. Its stylish arcuate-pro-
filed aluminium housing comes in a white enamel finish with sliding brackets that ensure its wall/ceiling installation is perfect-
ly centered on the first time; no second attempts, no do-overs.

Manual HT Series
Manual Retractable projection screen



Rev.062017-BR www.elitescreens.com 1 
 

 

 
 

Manual HT Series 
Premium Quality Manual Pull-Down Projector Screen 

User’s Guide 
 

Thank you for choosing the Manual HT projection screen! Please read through this user guide 

before utilizing the screen. Correct usage and maintenance will ensure a long product life.   

Care & Use Instructions   
◆ Dust, dirt and scratches on the projection surface will affect the picture quality, please take note 
of the points below to prevent that from occurring:  
 

1. Do not touch the projection surface with your hands  
2. Do not write or draw on the projection surface  
3. Do not use fingers or sharp objects to point on the projection surface; this will damage 
the screen material.  
4. Use a soft-damp cloth to clean the projection surface; do not use chemical cleaning 
agents or alcohol.   
5. Use clean water when dampening the cleaning cloth and do not rub against the material 
to clean it.   

 
◆To avoid damage and injury, the screen should only be operated by adults. 
 

 
Pre-installation 
 
1. Carefully unpack the screen. 
2. Always handle the screen in a leveled position on a clean surface. 
 

 

Hardware Parts List for  Manual HT Series 
A. Mounting Bracket 

x2pcs 
B. M10 Anchor and 
M4x50 Screw x4pcs 

C. Suspended Ceiling 
Bracket Connector x2pcs 

D. M5x15 Screw& Bolt 
x4pcs 

 
 
 
 

   

http://www.elitescreens.com/


Rev.062017-BR www.elitescreens.com 2 
 

 

Installation Instructions 
Please consult a professional installer, Elite Screens is not liable for faulty installations. 
 
Flush Mount to the Wall  

1. Mark the location of where the screen is to be installed, drill your holes and insert the 
M10Anchors (B). 

2. Install the Mounting Brackets (A) to the wall and secure with the M4x50 Screws (B). 
                                                                                                                              Mounting Bracket 

 
 

   
    
       Anchor 
 
 
 
 
 
   

3. Attach the screen to the Mounting Brackets (A) by inserting the top of the case to Fix Plate 1 and 
securing the back of the case to Fix Plate 2. Make sure the case slots are securely attached to the 
mounting brackets. 

Mounting Bracket                     Mounting Bracket 
            Fix Plate 1                          Fix Plate 2 

  

 
  
 
  

 
 
 

 
 

 
 Mounting Bracket Case Slot 1 

 
 
 
 

  
 
 
 
 
 
 
 

 
 
 Case Slot 2   Screen Case   
         

Mounting bracket 
Fix Plate 1 

M4x50 Screw 

Mounting Bracket 
Fix Plate 2 

Wall 

http://www.elitescreens.com/


Rev.062017-BR www.elitescreens.com 3 
 

 

 
Flush Mount to the Ceiling 

1. Mark the location of where the screen is to be installed, drill your holes and insert the 
M10Anchors (B).  

2. Install the Mounting Brackets (A) to the ceiling and secure with the M4x50 Screws (B). 

 Ceiling  M10 Anchor 
 
 
 
 
 
 Mounting Bracket Fix Plate 1 
Mounting Bracket 

 
 M4x50 Screw 

 
 Mounting BracketFix Plate 2 
 
 
 

3. Attach the screen to the Mounting Bracket (A) by inserting the top of the case to FixPlate 1 and 
securing the back of the case to Fix Plate 2. Make sure the case slots are securely attached to the 
Mounting Bracket (A). 

 
  
  

 
 
 
 
 
 
 

 
 
 
 
 
Suspended Ceiling using Chains (additional hardware required) 
 

1. You can also hang the screen on a ceiling by using chains (not included). 
2. Connect the Suspended Ceiling Bracket Connector (C) to the Mounting Bracket (A) and 

secure with the M5x15 Screws & Bolts (D). 

  M5x15 Bolt 
Suspended Ceiling Bracket Connector 

  (D)       (C) 
  
 

Mounting Bracket 
(A)    M5  M5x15 Screw  (D) 

 
 
 
 

Fix Plate1 
Fix Plate 2 
 

http://www.elitescreens.com/


Rev.062017-BR www.elitescreens.com 4 
 

 

3. Insert chains (not included) through the loop holes of the Suspended Ceiling Bracket 
Connector(C). 

 
 Suspended Ceiling Bracket Connector  
 Loop Holes 
 (C 
 
  

 
 
 
 
 

 
 
 

Screen removal from the Mounting Brackets 
 

1. Pull down on the Mounting Bracket Release Tab and remove the bottom case away from the 
wall/ceiling followed by the top of the case. 
 
 

 
 
 
 
 
 
   
 
 
 
 

 
Release Tab        

                                                        Pull bottom of case first away from wall/ceiling                     
 
Screen Operation 

 
1.  Pull the screen down from the lanyard or from the handle 
only in a 90-degree angle. To achieve this, make sure to pull 
straight down and allowing the screen to come up to lock into 
place. Do not attempt to pull the screen down by the surface 
or touch the screen, as it will damage the screen and void 
the warranty.  
 
2.  To retract the screen, simply pull the screen down more than 
2 inches and retract the screen back releasing it up gently.  The 
screen is equipped with a SLOW RETRACT MECHANISM 
which allows the screen to slowly retract without the need to 
hold on to the handle or lanyard.  Simply release the handle and 
the screen will retract by itself into the housing. 
 

http://www.elitescreens.com/


Rev.062017-BR www.elitescreens.com 5 
 

 

 
 
Attention: If the screen does not unlock, 
carefully pull the screen straight down with a 
little force. Always pull the screen down at a 
90-degree angle.  
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
For more information, technical support or your local EliteScreens 

contact, please visit www.elitescreens.com 

http://www.elitescreens.com/
http://www.elitescreens.com/

	PDF
	Screen Operation

